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S1|D13| 0.995 4 1.720 6.846
S2 [D13] 0.995 2 1.138 2.265
S3 |D13] 0.995 2 0.944 1.879
S4 |D13] 0.995 1 0.890 0.886
S5 [D13] 0.995 1 0.476 0.474
S6 |D13] 0.995 1 0.614 0.611
S7 |D13] 0.995 1 0.888 0.884
S8 [D13] 0.995 | 10 | 1.220 | 12.139
S9 |D13] 0.995 1 0.408 0. 406
$10|D13| 0.995 1 0.390 0.388
S11|D13| 0.995 1 0.666 0.663
$12|D13| 0.995 1 0.504 0. 501
S13|D13| 0.995 1 0.420 0.418
S14|D13| 0.995 2 0.869 1.729
S15|D13| 0.995 2 0.694 1.381
S16|D13| 0.995 1 2.995 2.980
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= — ) F10|D13| 0.995 | 4 | 0.370 | 1.473
F11|D13| 0.995 | 2 | 0.620 | 1.234
2 7 F12|D13| 0.995 | 1 | 1.895 | 1.886
F13|D13| 0.995 | 2 | 0.557 | 1.108
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